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3% 1.1: H,-0O, Ut 4% (Chemkin 723X) 3 1.3 Hyp-O, A4 7 55 58 0D B2 h B 23

reactions

I — major three chain branching/propagation reactions Bt , A b Ea/R k (1000 K)
H+02=0H+0 9.756e+013  0.000 14844.6 [em® mol™ s [K]  [cm®mol?s™
0+H2=0H+H 5.120e+004  2.670  6278.7 ™ "
H20+H=H2+0H 4.520e+008 1.600 18422.6 (1) H+0,->O0H+O0 9.8 x 10 0 7470 5.6 x 10

| — major near—termination forming HO2 4 1
Hionalor hea N O e . 800 0.0 (2) O+H,>OH+H 5.1 x 10° 267 3160  22x10”

N2/0.67/ 02/0.4/ C02/1.5/ H20/0/ AR/0.29/ (3) OH+H;, > H,O+H 1.0x 10 1.6 1660 1.2x10
02+H+H20=H02+H20 6.890e+015 0.000 -2086.5
I — OH/HO2 radical chain degradation/termination *(4) H+0,+M > HO,+M 1.7 x10" -0.8 0 6.8x10"
OH-+0H=0+H20 1.510e+009  1.140 100. 4
0H+H02=H20+02 2.890e+013  0.000  -497.1 *(4) ® A &k (1000K) DHAZIE [cm® mol?s™].

H+H02=H2+02 4.280e+013  0.000  1410.1
H02+H02=H202+02 4.220e+014 0.000 11983.7

duplicate <« 1/23 =-0.010ms
H02-+H02=H202+02 1.320e+011  0.000 -1630.0 1.0x10% -

duplicate
I = HO2 radical chain reactivation/propagation "

H+H02=0H+0H 1.690e+014 0. 000 874.8 LOAOTR, g T
H+H02=H20+0 3.010e+013 0.000  1720.8 Ny
0+H02=02+0H 3.190e+013 0. 000 0.0 1.0x10°0ff R S——
I — H202 reactions R IR Ry Fi e
OH+OH (+M) =H202 (+M) 7.230e+013  -0.370 0.0 < 1ox0 0] [oH
low / 5.530e+019 -0.760 0.0 / '

troe / 1 1 1 1040 / , .

N2/0.4/ 02/0.4/ C02/1.5/ H20/6.5/ AR/0.35/ 1.0x20 1 —— W, "
H202+H=H02+H2 1.690e+012  0.000  3754.8 > i “a,
H202+H=0H+H20 1.020e+013  0.000  3577.9 1.0><10'13F 1, = . | i ki
H202+0=0H+H02 6.620e+011  0.000  3974.7 ~-0.045 ms s
H202+0H=H20+H02 7.830e+012 0.000  1331.3 toxtovl— g
I — recombination chain termination/degradation ' 0.00 0.02 0.04 0.06 0.08 = |
H+H+M=H2-+M 1.870e+018 —1. 000 0.0 t [ms] ! -

N2/0.4/ 02/0.4/ C02/1.5/ H20/6.5/ AR/0. 35/ 1.0x10°% . ; . ; |
H+H+H2=H2+H2 9.790e+016 —0. 600 0.0 Smilanian
H+0+M=0H-+M 1.180e+019 —1.000 0.0 - A

N2/0.4/ 02/0.4/ C02/1.5/ H20/6.5/ AR/0.35/ 1.0x10% 7 wE
H+OH+M=H20+M 5.530e+022 —2.000 0.0 et i

N2/0.4/ 02/0.4/ €02/1.5/ H20/2.55/ AR/0.15/ LOx107 177 = - i * S
0+0+M=02+M 5.400e+013 0.000 -1787.8 028ms -7 ! —

N2/0.4/ 02/0.4/ C02/1.5/ H20/6.5/ AR/0.35/ < 1.0x10°% el ] | S i

end Pl (o) g i I.
1.0x10%"" " [OH 4 i = Fiil
e N i 1.2: Hp-O JRFE TR
. _ A4 N5 A R 1.0x10%/ .- 272
R 1.2: ClyHp SRS A DRSS g 800 K 2 7= 1 R
B , A L E./R k3(298_|1()_1 Lox10° L L Tzi Eg (ﬁEi é) Nz Li FRA,
[cm® mol™ s7] K] [cm® mol™ s7] t [ms] (T S e 7 T e L e 0 g W
(1) Cl+H,— H+HCI 2.2 x 105 2300 9.8 x 10° 1.1: H,-O, B I
(2) H+Cl,— Cl+HCcI 4.8 x 10% 416 1.2x10% [ Hz:0,=2:1, p=0.01 atm,

T = 1000 K, Xx(OH), = 1x107°]
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